[ 1
ROFEIVIZEZ L,

) 59—;‘—5 RS X,

1

sinx(1+cosx)

O043) T5 g 1o
o [l emere s,
(3) REBS [——22_gx %k L, HL, sinx (1 +cosx) 0% 7 3,

4 %ﬁa’?ﬁfgtaﬁ x dx% KD X,



fi 2
XOBWICEZ X,

1) U TFiermndTolyzke X,
1 0 0\/1 0 0\/1 0 1\/1 0 0\,
Y=<O 1 0)(0 1 0)(0 1 o)(o 1 0>(q>
0 0 -1/\-1 0 1/\0 0 1/\-1 0 1/\r

Q) UTFOERIHIIT 52 & T4, HL, nRERKTH S, $7, gldERET 5,

( cos@ sin (p)" _ ( cosng sin nq))
—sing cos@/ ~ \—sinng cosng

(3) 175UC, DHIERIZEnRIESITHICTH 5 L %,
(D)t =D
BRI 5 T & B,

BL, fTlcodfrilzct, TADO#HIT 2D, TICDDHLTI%(CD) 1L F 5,



3

B8 y = f(x) O—ROBBEK 2 & y LT 5,
UT o#n 7B 2nT—kigFz ko X,

My —y+1=0

Qy +xy —2x=0

(3) ¥y +2y=¢€* HL, el HANEOEL T3,



